AP Calculus-AB
Notes: Limits that Involve Infinity (o)

Remember: o
Vertical Asymptotest Set the denominator of a rational function equal to zero and solve for .
orizontal Asymptotes| To find, you compare the degree in numerator/denominator.
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Example(s) 1: | Find all the asymptotes of each function
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1. For the function f'graphed
below, find:
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2. For the function f graphed
below, find:
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3. For the function F graphed
below, find:
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4. For the function ¢ graphed
below, find:
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5. For the function f graphed
below, find:
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6. For the function G graphed
below, find:
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7. For the function ¢ graphed
‘below, find:
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8. For the function f graphed
below, find:
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9. Consider the function f, graphed
below. For what values of x, does

lim f(x) exist?
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For the function G graphed below, find:




